4

Current (mA)

-3.00E-07 |

NaCl:Dust = 0.4 : 99.6, Temperature = 70°C, Relative humidity = 20%

1.00E-07

5.00E-08 1

0.00E+00

tandard

vjation

-5.00E-08

-1.00E-07 |

-1.50E-07 =

-2.00E-07

-2.50E-07 {TRT0E

w“;l" ;

avih bl L L o (L

-3.50E-07

0

10 20

30

Time (hours)

60 70 80

Xitraa te 2%

Current (mA)

Current (mA)

NaCl:Dust = 0.4 : 99.6, Temperature = 70°C, Relative humidity = 40%

45

2.00E-07
( standard deviation

0.00E+00

-2.00E-07 -

-4.00E-07 ¥

-6.00E-07

"800E‘07 T T T T T T

75 95 145 135 155 175 195
Time (hours)
Xc‘&% He
/A1
NaCl:Dust = 0.4 : 99.6, Temperature = 70°C, Relative humidity -55%

2.00E-05 :

1.00E-05

0.00E+00 Hl A SR 2 ==
-1.00E-05 |1 :
-2.00E-05 gl RRER L L RRELRE LU
-3.00E-05
‘400E'O5 T T T T T T T

200.00 220.00 240.00 260.00 280.00 300.00 320.00 340.00 360.00
Time (hours)
)

e



46

NaCl:Dust = 0.4 : 99.6, Teinperature = 70°C, Relative humidity =68%
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